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GEOGRAPHY OF INDIA AND WORLD

Part—1/9m1-1
Marks — 30 / 3% — 30
AT: T UM H FT 15 WEF F | UEE W AMOE ¥ | TS W % o 02 3%
MaNa = |
Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

[Z77 9 : 20 9=
Explain the antipodal situation of continents and oceans on the earth.
[Answer Limit : 20 words]|

TErTeRaeh 37T Tei 40T T 3 AU | [T 9 ; 20 vT=]
Differentiate between a Mountain Ridge and Mountain Range.
[Answer Limit : 20 words]

TETETTRT | S1a0TdT % M99 SR F1 3ee7g FIrew | [5T% 9 ; 20 =]
Mention the controlling factors of salinity in oceans. [Answer Limit : 20 words]
IIATSH T HET H TV HIT | [T I : 20 9=
Describe the composition of atmosphere. [Answer Limit : 20 words]
| 3EaT 9% femoy e | [ZT% 9 20 9=
Comment on relative humidity. [Answer Limit : 20 words]
FHAW F 57 IF &7 1 717 0@ &1 07 FHT B AIha? (S1-T081%) STEeEr s & |

[T & 20 v ]
Name the four regions of the world where most (two-third) of the world’s

population is concentrated. [Answer Limit : 20 words]
T HRA o5 [ 59 I TE S-S & 2 [ST | 20 v
Of which State of India, is the Santhal a main tribe ? [Answer Limit : 20 words]
3 =T T E 2 [ST7 5 ; 20 9]
What 1s mango shower ? [Answer Limit : 20 words]
T W H9T T E 0 [5T% = : 20 =]
What is Main Boundary Fault ? [Answer Limit : 20 words]|
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TRRTT & W T &1 T foeroT e | [59T J : 20 3=

Give an account of the major oil fields of Gujarat. [Answer Limit : 20 words]
TET JAX T FTE 2 [S9T | : 20 v
What 1s Khadar and Bangar ? [Answer Limit : 20 words]
ST T STERIT F AR AT VAT T SRI0T Wed HIeTe | [S7 9 20 9]

Present a classification of Igneous Rocks according to mode of occurrence.
[Answer Limit : 20 words]|

F1 T % fewmme AT | [T T : 20 v

Give a geographical location and area of Uttarakhand and names of surrounding
districts and bordering countries in clockwise direction. [Answer Limit : 20 words]

T 1 E 7 F T I BT AH S | [T |4 : 20 7=
What are ‘Bugyals® ? Give the names of some important bugyals.
[Answer Limit : 20 words]

TTETE F WG 3% T90E TEel B 90 Fieg | [ST% I ; 20 9]
Describe the Bhabar and Tarai belts of Uttarakhand. [Answer Limit : 20 words]

Part—2/¥mT-2
Marks — 50 / 3/ - 50
AT TH HTT A B 10 U £ | TS UV AV £ | U U % o 05 3
R
Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

"3 TAT O 2O wirET | [T 9 : 50 vT=5]
Comment on El Nino. [Answer Limit : 50 words]
HARAE J97 %1 THEET | [ZT7 5T ;50 v
Explain the convectional rain-fall. [Answer Limit : 50 words]|

FREE ST 6T TS F HH B F (0T G99 MR TS (T2 3.) F §

TR TR 2 [S5¢ 941 : 50 vI=]

What are the ways the World Trade Organization (WTO) adopts to reduce barriers

to international trade ? [Answer Limit : 50 words]
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THaTE Tt 3T SEAE% ST H qo HIeT | [ST7 941 : 50 9=
Compare the Subsistence Agriculture and the Commercial Agriculture.
[Answer Limit : 50 words]

A H 15 ST 915 o TS HRE T E 2 [STX 941 : 50 v1=]
What are the chief factors of rapid population growth in India ?
[Answer Limit : 50 words]

U & TR ?FFlFrElﬂ@ HETHF THR B F £ 2 TR A | [S7 9 : 50 =]
What are three main functional types of cities of India ? Give examples.
[Answer Limit : 50 words]

TR 1 SR A o 597 59T & 2 [T 94 : 50 v=5]
What are the aims of the trade policy of India ? [Answer Limit : 50 words]
TR H ERA-SHI 1 STARd] & TdT H Sooid Hire | [Zo% 941 : 50 9=

Write in brief on the achievements of Green Revolution in India.
[Answer Limit : 50 words]

TS AR % W WMo oeqon ST | [Z% 9 : 50 =]
Give salient geographical features of Nanda Devi Peak. [Answer Limit : 50 words]

“STRIETE T 7429 SET U U9 Tl &7 ¥ TAEI0E BTE AW E 39 FGT F
T HT | (S0 9 ; 50 7=

“Tourism Industry is the direct and indirect victim of environmental degradation
in Uttarakhand’. Explain this statement.
[Answer Limit : 50 words]

Part-3/9mT-3
Marks — 40 / 3% — 40
AT 9 9 H %o 07 U F | 99T T 05 U9 ST T | W WY % 1 08
ok MY 7 |
Note : There are 07 questions in this part. Candidate should attempt any 03
questions. Each question carries 08 marks.

[Z | ;125 ]
Name the four layers of the atmosphere and describe the lowermost layer.
[Answer Limit : 125 words]|
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T ST I TGS T ST d-llcpﬁ-l % YW T ST TR0 qE=d FHITTT |
[ST% 9 ; 125 9]
Describe river delta and present their classification on the basis of shape.
[Answer Limit : 125 words]

T SHITT THRATT 1 U W a0 T FHiei | [5T% = ;125 9]
Present a brief description of tropical cyclone. [Answer Limit : 125 words]
ST o HATYR 7T WA TH5a 1 SRl ST | [So% 9 : 125 9]
Classify Indian soils on the basis of rocks. [Answer Limit : 125 words]|
A o HHET AT & G &l GUF HIeTT | [3T7 9 : 125 9=

Describe the development of marine transport of India. [Answer Limit : 125 words]

T ¥ AT SR &1 1 [90R 0T TR BT | [5T = : 125 v
Give the distribution of Coal producing areas of India. - [Answer Limit : 125 words]

“TTRATE § FU FI A T FOATEN HGH ST A HL TEA £ |7 = Few |
(3T 9 : 125 9=
*Horticulture in Uttarakhand can earn more income, than agriculture.” Discuss.
[Answer Limit : 125 words]

Part—4/49mr—4
Marks — 80 / 31 — 80

WM. TP UM E F 07 TS £ | g TR 05 TRl % IR % | U UYE % AT 16
Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

HHFT % HIIT T SO HITSTT R FHFT T FAIHI0T T | [37% | : 250 =)
Mention the causes of earthquakes and present a classification of earthquakes.
[Answer Limit : 250 words]

I | AT T T £ 7 SHTSEA WHAT 5 HHT HET S SR I FIe |
[T S : 250 v

What do you understand by Plain ? Give classification of plains formed through

denudational process. [Answer Limit : 250 words]|
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[ * b (2} aS e . W *, r i~
IS =h T ShIH Hid Tl Al DI | ST 6 hald H Hiad 96h 9 AhN PENC

BT E 7 [S7% 9 : 250 vr=]
Describe how does the Carbon cycle work. How is the working of the Carbon

Cycle affected by deforestation ? [Answer Limit : 250 words]|
‘GR35 &, Tohe Il % el e £ |7 same i | [ST% | : 250 9]

‘India is a rich country inhabited by the poors’. Explain. [Answer Limit : 250 words]

“YRE & FUF AT T 3 TAd & |* 5H HIT BT IO HBINT | [SH FA ;250 v
‘Indian farmer gambles with the monsoon.” Explain this statement.
[Answer Limit : 250 words]|

R F FeAl-T5 M F ST, [T U8 Seme 0 Jh79 e |

[ST% 9T ; 250 =]
Throw light on the localization, growth and production of Cotton-Textile Industry
in India. [Answer Limit : 250 words]

FITHIT BT AR T §¢, STRENS BHICE F 9rd Hifas W89 H OIS e 1
T WS YT % Y- ST TeIvT ST T S | [ST7 9 ; 250 I
By giving the basis of your classification, divide Uttarakhand Himalaya in to
macro physiographic regions and illustrate geomorphic characteristics of each
region. [Answer Limit : 250 words]
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